Division & Equal Groups
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Divide 6 tomatoes into groups of 3.

There are

groups of 3 tomatoes.

Divide 8 lollypops into groups of 2.

There are groups.

8+2=

Divide 10 stars into groups of 5.

BYRYR YT

Divide the shellsto show 12 + 3=
where the unknown represents the number of
groups.

How many groups are there?

Go to onlinemathlearning.com for more worksheets




Division & Equal Groups

XX
Qé&i

Divide 6 tomatoes into groups of 3.

There are

groups of 3 tomatoes.

Divide 8 lollypops into groups of 2.

There are groups.

8+2=

Divide 10 stars into groups of 5.

BYRYR YT

Divide the shellsto show 12 + 3=
where the unknown represents the number of
groups.

How many groups are there?

Go to onlinemathlearning.com for more worksheets




